Mastery Algebra 1

Review Wksht Chp 4-5 Test
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1. Putin slope-intercept form.
y+8=3(x—-5)
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2. Find the slope and y-

intercept.
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3. Find the slope and y-
intercept.
3x+2y=28
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4. Find the slope of the line that
passes through each pair of

points
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5. Find the slope of the line that
passes through each pair of

points
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6. Find the slope of the line that
passes through each pair of

points
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7. Write the equation of the
line graphed below:
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9. Each pair of points lies cn the
same line. Find x.

(x,5), (-3,-3); slope=4
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13. Write the equation of the line
passing through (2,-5) and (4,3).

M= 3-(-5) _ @

~= =4
b -2 2
-5 =4(<) +b
-S = 3+b
~% -2
-n = b
ST

14. Write the equation of the line

parallelto y = ——%x +1
Passing through (-6,12)
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15. Write the equation of the line
perpendicularto y = 4x + 5
passing through (12,8).
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16. Graph the following equation.
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